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Q.1) "The integration of princely states was a testament to both diplomacy and force." Critically 
analyse this statement in the context of India’s post-independence consolidation. (150 words, 
10 marks) 

 
 

At independence, India inherited over 560 princely states. Their integration was vital for national 
unity and was achieved through a mix of persuasion, strategic pressure, and military intervention. 
As V.P. Menon said, “We took over an inheritance of incredible complexity and diversity, and gave 
it a coherent shape.” 
 

 
 
 

Diplomatic Efforts for Peaceful Integration 
1. Instrument of Accession route used: States joined India by acceding on defence, external 

affairs, and communications. 
Example: Mysore, Bikaner, and Patiala signed early without resistance. 

2. Patel-Menon strategy: Patel’s firmness and Menon’s tact ensured quick accessions. 
Example: Over 100 small states merged swiftly under this approach. 

3. Privy purse and titles assured: Rulers were granted financial and ceremonial assurances. 
Example: Gwalior and Baroda rulers accepted merger with these incentives. 

4. Tactful handling of sensitive states: Personal dialogue helped defuse resistance. 
Example: Travancore dropped its independence claim after Patel’s intervention. 

5. Popular legitimacy invoked: People's wishes were used to justify integration. 
Example: Junagadh plebiscite overwhelmingly favoured joining India. 

 
Use of Force and Coercive Measures 
1. Military action in Hyderabad: Force was used to crush armed resistance. 

Example: Operation Polo ended Nizam’s rule in 1948. 
2. Pressure on hesitant states: Reluctant rulers were politically isolated. 

Example: Bhopal joined after public pressure and central assertiveness. 
3. Kashmir's conditional accession: Joined India during Pakistani-backed tribal invasion. 

Example: Maharaja Hari Singh signed Instrument of Accession in October 1947. 
4. Rejecting pro-Pakistani moves: India opposed rulers acting against people's will. 

Example: Junagadh Nawab’s decision reversed by public uprising and plebiscite. 
5. Merger of minor states into unions: States forcibly grouped into larger administrative units. 

Example: Saurashtra and PEPSU formed despite some resistance. 
 
 

6.  
The integration of princely states reflected a masterful blend of statecraft and resolve. Without 
Patel’s diplomacy and the credible threat of force, India’s territorial unity may have remained a 
dream. 
 

Introduction 

Body 

Conclusion 



 

IASBABA’S TLP/SANKALP DAY-12 WORLD HISTORY TEST SYNOPSIS 

Q.2) What were the key administrative challenges confronting the Indian government in the 
immediate aftermath of Independence? How were these challenges addressed? (150 words, 10 
marks) 

 
 

After Independence in 1947, India faced major administrative challenges such as unifying princely 
states, controlling communal violence, and building new institutions. As Nehru said, “The task 
before us is colossal, but so is our will to succeed.” 
 

 
 
 

Key Administrative Challenges 
1. Partition and Refugee Crisis: Massive displacement of over 10 million people caused 

humanitarian emergencies. 
Example: Punjab and Bengal faced huge influxes of refugees, straining resources. 

2. Law and Order Breakdown: Communal riots and violence erupted, destabilizing peace. 
Example: Direct Action Day in Calcutta led to widespread riots. 

3. Integration of Princely States: Over 560 states had varying degrees of allegiance. 
Example: Hyderabad and Junagadh showed resistance to joining India. 

4. Establishing Bureaucracy: Departure of British officials created a vacuum in administration. 
Example: Need for rapid training of Indian civil servants. 

5. Economic Disruption: Partition severed trade routes and split industrial centers. 
Example: Lahore’s partition disrupted Punjab’s economic unity. 

 
Measures Taken to Address Challenges 
1. Refugee Relief and Rehabilitation: Government set up camps and resettlement programs. 

Example: Central relief camps in Delhi and Punjab helped millions. 
2. Deployment of Security Forces: Police and army were mobilized to restore law and order. 

Example: Military intervention in riot-hit areas like Noakhali. 
3. Diplomacy and Force in Princely Integration: Instruments of Accession and military action 

used. 
Example: Operation Polo in Hyderabad in 1948. 

4. Creation of Indian Administrative Service (IAS): To ensure efficient governance. 
Example: IAS formed to replace departing British officers. 

5. Economic Planning Initiated: Establishment of Planning Commission to revive economy. 
Example: First Five Year Plan launched in 1951 focusing on agriculture and industry. 
 

India navigated its post-independence administrative crisis through visionary leadership, state 
integration, and institutional foundations. As Sardar Patel, the architect of integration, aptly said, 
“The first requirement for progress is the unity and stability of the nation.” 

Introduction 

Body 

Conclusion 



 

IASBABA’S TLP/SANKALP DAY-12 WORLD HISTORY TEST SYNOPSIS 

Q.2) To what extent did the French Revolution lay the ideological foundations for modern 
democratic systems across the world? Examine its impact beyond the borders of France. 
(150 words, 10 marks) 

 
 

The French Revolution of 1789 broke away from monarchy and introduced ideas like liberty, 
equality, and popular rule. These ideals reshaped state-citizen relations and inspired democratic 
change around the world. 
 

 
 
 

Core Democratic Ideals Emerged from the Revolution 
1. End of Absolute Monarchy: The king's authority was replaced by elected bodies 

representing the people. 
Example: Formation of the National Assembly and the execution of Louis XVI. 

2. Declaration of Rights: Asserted liberty, equality, fraternity as natural rights of all humans. 
Example: The 1789 Declaration of the Rights of Man and Citizen influenced global charters. 

3. Popular Sovereignty: Shifted legitimacy from divine rule to the will of the people. 
Example: Citizens demanded constitutions and representation through mass mobilizations. 

4. Secular and Legal Equality: Disempowered the Church and aristocracy, introducing 
equality before law. 
Example: Abolition of feudal dues and privileges across France. 

 
Impact Beyond France’s Borders 
1. Inspired Global Revolutions: Sparked democratic uprisings in Haiti, Latin America, and 

parts of Europe. 
Example: The Haitian Revolution was directly inspired by revolutionary France. 

2. Spread of Legal Models: Napoleonic Code influenced civil law systems across Europe and 
Latin America. 
Example: Adopted in countries like Italy, Spain, and parts of the Middle East. 

3. Universal Human Rights Discourse: Laid early foundations for later rights-based 
governance systems. 
Example: Reflected in the UN Charter and post-colonial constitutions. 

4. Democratic Nationalism: Reimagined nations as communities of equal citizens. 
Example: Fueled anti-colonial movements in Asia and Africa in the 20th century. 

5. Challenge to Aristocracy and Elitism: Encouraged meritocracy and dismantling of birth-
based privilege. 
Example: Civil services and representative bodies adopted competitive models worldwide. 

6. Institutional Legacy: Set the template for republics with elected assemblies and checks on 
executive power. 
Example: Republican constitutions in Europe and Latin America bore these features. 
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Though rooted in French soil, the Revolution’s ideals had global resonance. It laid the ideological 
foundations for democratic systems by redefining power, rights, and governance—making it a 
landmark event in shaping the modern world. 
 
 

Q.4) The States Reorganization Act (1956) was a pragmatic compromise between linguistic 
identity and administrative viability. Discuss its successes and limitations in shaping modern 
India’s federal structure. (250 words, 15marks) 

 
 

The States Reorganization Act of 1956 was a landmark in India’s post-independence political 
history, aimed at redrawing state boundaries primarily on linguistic lines while balancing 
administrative efficiency. As Jawaharlal Nehru noted, “Linguistic states have given new vitality to 
Indian federalism.” 
 

 
 
 

Why It Was a Compromise 
 Balanced Identity and Unity: It recognized linguistic identity without compromising national 

integration. 
 Merged Language with Governance: States were reorganized to reflect both cultural 

cohesion and administrative functionality. 
 Avoided Extremes: It neither followed purely linguistic criteria nor rejected them entirely, 

opting for a middle path. 
 
Successes of the States Reorganization Act 
1. Recognition of Linguistic Identity: The Act acknowledged linguistic diversity, reducing 

regional discontent. 
Example: Creation of Andhra Pradesh for Telugu speakers. 

2. Administrative Efficiency: States were reorganized to have coherent administrative units, 
improving governance. 
Example: Integration of Kannada-speaking areas into Mysore (Karnataka). 

3. Political Stability: The reorganization reduced separatist tensions and demands for smaller 
states temporarily. 
Example: Reduced agitations in the South for linguistic states. 

4. Foundation for Federalism: Established linguistic federalism as a principle in Indian polity. 
Example: States acquired more cultural autonomy within a unified India 

5. Accommodation of Regional Aspirations: The Act addressed regional identity within the 
constitutional framework. 
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Example: Formation of Punjab and Haryana to represent Punjabi and Hindi speakers 
respectively. 

6. Strengthened Democracy: Aligning states with language groups improved voter 
engagement and representation. 
Example: Electoral politics became more regionally relevant. 

7. Encouragement for Local Languages: Promoted local languages in education and 
administration. 
Example: Tamil in Tamil Nadu and Marathi in Maharashtra flourished. 
 

Limitations of the States Reorganization Act 
1. Incomplete Linguistic Unity: Some linguistic minorities remained in states dominated by 

other languages. 
Example: Marathi speakers in Karnataka etc. 

2. Neglected Other Identities: Ethnic, tribal, and cultural identities beyond language were 
side-lined. 
Example: Tribal demands in Northeast India remained unresolved. 

3. Creation of Smaller Conflicts: New borders sometimes created fresh disputes and 
secessionist tendencies. 
Example: Demand for Telangana later led to Telangana statehood only in 2014. 

4. Central Government’s Dominance: Despite reorganization, the Centre retained overriding 
powers limiting true federalism. 
Example: Use of Article 356 to dismiss state governments. 

5. Overemphasis on Language: Economic and geographic factors were sometimes ignored in 
favour of linguistic criteria. 
Example: Geographically fragmented states with poor connectivity. 

6. Political Manipulation of Linguistic Identity: Language used for political mobilization 
sometimes caused divisiveness. 
Example: Rise of regional parties with narrow linguistic agendas. 

7. Delayed Reorganization in Northeast: Several North eastern states were not reorganized 
till decades later, causing unrest. 
Example: Insurgencies and ethnic clashes continued. 
 

 
The States Reorganization Act of 1956 was a pragmatic solution balancing linguistic aspirations 
and administrative needs, playing a crucial role in shaping India’s federalism. While it brought 
many successes, ongoing challenges reveal the need for continuous adaptation to India’s diverse 
social realities. 
 
 
 
 

Conclusion 



 

IASBABA’S TLP/SANKALP DAY-12 WORLD HISTORY TEST SYNOPSIS 

Q.5) To what extent did the systemic failures of the interwar international order contribute to 
the outbreak of the Second World War? Examine with reference to political, economic, and 
ideological factors. (250 words, 15 marks) 

 
 

The interwar period (1919–1939) saw fragile institutions, unresolved wartime legacies, and rising 
global tensions. While war was not inevitable, the failure to address political grievances, 
economic distress, and ideological radicalism made the descent into global conflict increasingly 
irreversible. 
 

 
 
 

Political Failures 
1. Ineffective League System: The League of Nations lacked enforcement power, allowing 

aggressors to act unchecked. 
Example: Japan’s invasion of Manchuria (1931) and Italy’s of Ethiopia (1935) met no 
meaningful resistance. 

2. Harsh Versailles Settlement: The punitive peace terms bred resentment, particularly in 
Germany. 
Example: Hitler exploited the 'war guilt' clause and reparations to fuel nationalist revival. 

3. Appeasement Diplomacy: Concessions were made to dictators in hope of avoiding conflict. 
Example: The 1938 Munich Pact enabled Hitler to annex Sudetenland without 
consequence. 

4. Lack of Unified Deterrence: Major powers failed to form a united front against rising 
threats. 
Example: The remilitarisation of the Rhineland in 1936 went unchallenged by Britain or 
France. 

 
Economic Instability 
1. Global Depression Impact: Economic collapse undermined democracies and legitimised 

extremist politics. 
Example: Germany’s unemployment crisis allowed Nazis to gain mass support in the early 
1930s. 

2. Rise of Protectionism: Economic nationalism intensified global divisions and competition. 
Example: U.S. Smoot-Hawley Tariff (1930) triggered retaliatory policies and worsened the 
downturn. 

3. Expansion for Resources: States pursued militarist expansion to overcome economic 
isolation. 
Example: Japan’s invasion of China in 1937 was aimed at gaining access to raw materials. 

4. Financial System Collapse: Recurrent banking failures deepened instability across Europe. 
Example: Austria and Germany’s 1931 banking crisis discredited liberal capitalist systems. 
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Ideological Polarisation 
1. Fascist Expansionism: Fascist states glorified militarism and conquest as national destiny. 

Example: Mussolini’s Ethiopia invasion (1935) was justified as restoring Roman imperial 
glory. 

2. Anti-Communist Hostility: Fear of Bolshevism shaped Western reluctance to engage the 
USSR. 
Example: Britain and France hesitated to ally with Stalin even as Hitler advanced. 

3. Racial Nationalist Doctrines: Ultra-nationalist ideologies fuelled genocidal and 
expansionist policies. 
Example: Nazi beliefs in Aryan supremacy underpinned Germany’s territorial ambitions. 

4. Fragmented Global Ideologies: Clashing ideologies weakened efforts at collective 
resistance. 
Example: The Nazi-Soviet Pact (1939) stunned the West and cleared the path for war. 

 
 

 
World War II emerged not from a single spark but from accumulated failures—diplomatic 
weakness, economic collapse, and unchecked ideologies. The interwar order proved unable to 
maintain peace, showing that stability demands not just treaties, but resolve, justice, and 
collective will. 
 

Conclusion 


